
UNITED NATIONS (ANTI-TERRORISM MEASURES) ORDINANCE 
(Chapter 575) 

Updating of specification of names of persons designated as terrorists or 
terrorist associates by the Committee of the United Nations Security 

Council established pursuant to the United Nations 
Security Council Resolution 1267 of 

15 October 1999 
(the Committee) 

I, AMBROSE S K LEE, the Secretary for Security, pursuant to – 

(a) section 4(1), (2) and (6) of the United Nations (Anti-Terrorism 
Measures) Ordinance (Chapter 575) and all other powers conferred 
upon me; and 

(b) the delegation dated 4th of September 2002 under section 16 of that 
Ordinance of the Chief Executive’s functions under section 4 of that 
Ordinance, 

hereby – 

(c) revoke the notice dated 24th December 2010, published as G.N. 8155 
in Gazette No. 51/2010, specifying the names of the persons then 
designated by the Committee as terrorists or terrorist associates; and

(d) specify, in the Schedule to this notice, the names of the persons now 
designated by the Committee as terrorists or terrorist associates. 

Dated this 8th day of April 2011. 

  Ambrose S K Lee 
  Secretary for Security 

G.N. 2165
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SCHEDULE 
 

SPECIFICATION OF NAMES OF PERSONS DESIGNATED 
BY THE COMMITTEE AS TERRORISTS 

OR TERRORIST ASSOCIATES 
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